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F 1R 300 0 1,242
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) % 3 BRFE(D 923 1,000 370 19 2.312
ENE2 B3RO 1,300 370 0 2,612
54k (12]) 1,800 377 3,119
54 B (2F]) 1,846 1,800 377 38 4,061
£ 4R (32) 2,769 1,800 377 57 5,003
£ 1ERRE 300 0 1,309
B 2B 600 370 1,979
ERETHO) 990 1,000 370 19 2,379
ENES B 3B 1,300 370 0 2,679
£ 4B (12]) 1,800 377 3,186
54 EpE (2F]) 1,980 1,800 377 38 4,195
54 (32 2,970 1,800 377 57 5,204
2 1B 300 0 1,364
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54 EBE (2F]) 1,586 1,800 1,668 38 FiaA 7,842
£ 4R (3%) 2,379 1,800 1,668 57 8,654
] e 300 490 4,401
5 2 R 600 490 4,701
) % 3 BRPE(D 842 1,000 1,310 19 2,750 5,921
ENE2 [ BIBEQD 1,300 1,310 6,221
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54 EpE (22)) 1,684 1,800 1,668 38 A 7,940
54 ERE (32)) 2,526 1,800 1,668 57 8,801
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5 2 ERXTE 600 490 4,766
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= 2 ERPE 600 490 4,822
) = 3 (D) 963 1,000 1,310 19 2,750 6,042
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54k (12]) 1,800 1,668 7,200
£ 4R (22]) 1,926 1,800 1,668 38 FiaA 8,182
54 EBE (3F)) 2,889 1,800 1,668 57 9,164
£ 1R 300 490 4,577
5 2 EXFE 600 490 4,877
BRI D 1,018 1,000 1,310 19 2,750 6,097
ZNED % 3 ERFEQ) 1,300 1,310 6,397
B4R (12) 1,800 1,668 7.255
B4R (22) 2,036 1,800 1,668 38 FiaA 8,292
£ 4R (32) 3,054 1,800 1,668 57 9,329
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